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9.64 x 10 = 7.972 x 1000 =
5943 x 10 = 3.361 x 10 =
6.546 x 10 = 10.13 x 10 =
6.981 x 10 = 5911 x 10 =
10.558 x 10 = 1.586 x 10 =
10.438 x 100 = 4.342 x 1000 =
6.974 x 1000 = 7.503 x 1000 =
5.762 x 1000 = 8317 x 10 =
10.903 x 1000 = 4.302 x 1000 =
1.065 x 10 = 5.067 x 100 =
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240 10,100,1000 &5}7|
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9.64 x 10 = 96.4

5.943 x 10 = 59.43

6.546 x 10 = 65.46

6.981 x 10 = 69.81

10.558 x 10 = 105.58

10.438 x 100 = 1043.8

6.974 x 1000 = 6974

5.762 x 1000 = 5762

10.903 x 1000 = 10903

1.065 x 10 = 10.65

=LA

7.972 x 1000 = 7972

3.361 x 10 = 33.61

10.13 x 10 = 101.3

5911 x 10 =59.11

1.586 x 10 = 15.86

4.342 x 1000 = 4342

7.503 x 1000 = 7503

8.317 x 10 = 83.17

4.302 x 1000 = 4302

5.067 x 100 = 506.7
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